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HEEEBRE .
s 1 2 4 5 6 7 8 9 10 | 11 | 12
R
1. Bt a = (4,2),b = 2,9), Ha /b Ny =
A. 4 B. 3
C.2 D. 1
2. %% o« HBEZMR M, N
A. tana < 0 B. xan§>0
C. sina <0 D. cosa > 0
3. KHEEL y = = LHAIEER
A lala =" +kn,k €12 B. lala =7 +2kn,k € Zl
Colala=2E4kn,k €2l D. lala =+ 2%k € ZI
4. B4l a = sin33°, b6 = cosSS5", ¢ = sin120", Ml
Aca>b>c¢ B.b>a>c¢
C.c>b>a D.c>a>b

B 1T (HEM)
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5. BAINBIE ABCD HFFIAIE, AB = (2,3), AD= (- 1,2), AC+ BD =

A (-2,4)
C. (-6, -2)

6. EMEY f(z) = sin(gz + 5),
A. ¥ f(x) HERXT R(F,0) 3

B. B¥ f(2) WERXTHA = = 5 2H

B. (4,6)

D. (-1,9)

C. ¥ f(x) G‘J[ﬂﬁfﬂﬁ"ﬁ?% A BJE X F IRARTHR

D. B¥ f(z) %Eﬁﬁl‘ﬂﬁ%‘ﬁ% MHAERTHEK = = 1;— X

7. FHBOERESM

A a,b IR FE, H1a+bi=la-bl,Ma lb

B. # a, b X T A FARALS B ], WOFEAEE R ¢ MATURTN e = Aa + b

C.¥a/b,b/fc,Wa5eR—FHLE

D. (@) + b = a* (b)

8. %5 sina = 2cosa, M sin2a =

2
A.5

2
C.—S

9. B¥ y = f(=x) MB%WE‘F@% A BQ, AR BRI BRAR ARAE  IROR MY 2 fF, T 1 BB

1 A7, BF g(z2) = sin(x + %).)FM
A. f(zx) = sin(2x - %) -1

C. f(x) = cos2z - 1

B. f(z) = sin(%r RS

D. f(z) = s'm(‘%‘z‘ + %) -1
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10. sin50°(1 +/3tan10") = = EER AR S MG, 3% 48 53 B RLE 3T, EWI R AR B 3R
A o [23 17. (A /NEBESY 8 4)
BRIt a = (2,3),b = (-2,4).
L1 -
c. i D. 1 (1)#(2a + b) L b,K 2

= — 2)#E A= K p 4 o b 2 sty
11 WL AABC 1, O % BC i1, 2 O M ABJAC FHETIATF MN,FAB = m AM, (2) # & = 4, KMk o b HA LGB | a1 cos0O(Beh 0 fa 55b B9 S0).

. — A
AC= n AN, m + n =
A.2 , NC =
C.1 M e
D. 3
12. BSIERL f(z) = sinz — cosz + sinzcosz, M f(z) MALEN 8
A. [1, + ) B. [-/2+ 4,1 5
c. [-1,1] D. [=/2 =51 E?
= . AR 4 NG, EME 4 43, 3k 16 4, JUERIGEGI T HK L. _\‘{
13.sin % =
14. # tan(a + B) = %,tanﬁ = %,N’I tana = )45
15.% 1al=1,1b1=2a L(a=-2b), WMia+bl=
16. f0E, W— 2 TG P 4 FAT B, W3 S00m, — UMY AT — 4t A 4b i 4 3 0 X “)‘I
B EAIAL 69 K 20 km/h, KW E RN S km/h, LT B EEEE, BT EEDY '315
6=

min.
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18. (A /MEWESY 10 53)

sin?(m — a)cos(% + a)

BA:f(a) = tan(x — a)tanacos’(x — a)’
(D) AR f(a)s

2)#F a %J%E%F&fﬂ,ﬂsin% + cos% = Lé-*f(ﬂ + %)~

mW—EE BSTW(HBT)

19. (A/MEFESF 10 4)

SRMUIE :  http://ww.tygdedu.cn

HH f(2) = Asin(wz + ¢)(A > 0,0 >0, | ¢ 1< %) WA P S I B BT

(1) 3R f(z) BN

(2) REY f(2) #Ex, 2] LRI RE BRI, ) LHER.

B
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20, (A/MEHESY 10 43) BEBA HRZEATE(A) (B) FAN/MEFE L —BEE .

(A) BT MAF ABCD %, AD = 1, ZBAD = 60°, M % CD 15, AC- BM = - —;—
(1) 5k AB 89

(2) ¥ E.F HRBAD.AB k9% &, B EF // BD, RAE- DF 8 /Mi.

(B) BAIFAFM#MI ABCD %, AD = 1, Z/BAD = 60°, M }CD &, AC+ BM = - %
(1) 3R AB #91;

(2) # F HEBAB F#3) S CRAEMA), KCF - DF f5i/ME, DR i & F (8.
D) M C

SORSSRIR: TR ZH X 25 2 4 4

HgE IR (H8I)

EARMIE:  http:/iw,

21. (A/MEWS 10 4) B R A1 (A)(B) BWADMEFEE—BEE

(A) B#l g = (sinwz, coswz ), b = (coswr,/3coswz), f(z) = a * b —%,E&ﬁf(z)
B /NERBIN ~.

(1) K o H1E;

@Ef) =2 -E<a<E 1P =2 - p<- 3 Koos(2a - 2p)

H.

(B) BEHl @ = (sinwz,coswz), b = (coswz,fjcoswz),f(z) =a-b —‘%,E&ﬁf(z)

WE/NERAN ~.
(1) R f(z) BB

QR)EXRF r HR2f(x - %) + f(z + ﬁ) = m E[0,x) REBENARENE o, 8,

KiE:cos(2a — 28) = %mz - 1.

L2 PR RAE AR E M www. tygdedu.cn
WETRFT 2 m#hek. 400-63663-138
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